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QUESTION 1

Which service cannot be included in a Security Policy using Service Composer? 

A. Endpoint Services 

B. Firewall Rules 

C. Virtual Private Network Services 

D. Network Introspection Services 

Correct Answer: C 

 

QUESTION 2

Which two options are correct regarding vSphere Distributed Switches? (Choose two.) 

A. A single vDS can span multiple vCenter Servers. 

B. A single host can be attached to multiple vDS. 

C. A single vDS can span multiple hosts across multiple clusters. 

D. A vDS is automatically created when a new 802.1Q trunk is configured. 

Correct Answer: BC 

 

QUESTION 3

An administrator needs to perform a configuration backup of NSX. From which two locations can this task be
performed? (Choose two.) 

A. Directly on the NSX Manager 

B. From the vSphere Web Client 

C. Using the NSX API 

D. Directly on each NSX Controller 

Correct Answer: AC 

 

QUESTION 4

What are two requirements of the network infrastructure to virtualize the access layer? (Choose two.) 

A. IPv4 connectivity among ESXi hosts provided by a spine-leaf network design. 
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B. IPv4 connectivity among ESXi hosts. 

C. Increased MTU if the virtual machines are using the default MTU size of 1500. 

D. A Redundant, Layer 3, Top-of-Rack network design to provide high availability to ESX hosts. 

Correct Answer: BC 

 

QUESTION 5

Internet access is required from virtual machines located on any logical switch. Direct access from the internet to these
virtual machines is NOT permitted. 

Which Perimeter NSX Edge feature would achieve this with the least configuration? 

A. LB 

B. DNAT 

C. SNAT 
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D. VPN 

Correct Answer: B 

2V0-642 Study Guide 2V0-642 Exam Questions 2V0-642 Braindumps

Powered by TCPDF (www.tcpdf.org)

2V0-642 Study Guide | 2V0-642 Exam Questions | 2V0-642 Braindumps                                4 / 4

https://www.pass4itsure.com/2v0-642.html
https://www.pass4itsure.com/2v0-642.html
https://www.pass4itsure.com/2v0-642.html
http://www.tcpdf.org
https://www.pass4itsure.com/2v0-642.html
https://www.pass4itsure.com/2v0-642.html
https://www.pass4itsure.com/2v0-642.html

